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INUL

ANSWER KEY - Extra Practice

UNIT 1
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2 1 too lazy; 2 too old, not fast enough; 3 not entertaining enough; 4 too young;
5 not relaxed enough; 6 too difficult, not motivated enough

3 Students’ own answers

4 1 must, must; 2 don’t have to / mustn’t, must; 3 don’t have to / mustn’t, must;
4 doesn’t have to; 5 must

51T, 2F. If you're outside the deli shop and you go straight ahead for two
blocks, you get to the park. 3 T; 4 F. The hotel is behind the bank / opposite the
park. 5 T

6 1 worried; 2 irritating; 3 interested; 4 relaxed; 5 surprising

7 1 ariver; 2 a tunnel; 3 a train station; 4 a railway; 5 an oak wood; 6 a bridge; 7
a monument (a circle of stones)

8 Students’ own answers
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